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Answer Key ¢ Lesson 3: Multiplication Stories

Student Activity Book

Number Sentences (SAB p. 89)
Questions A-K

A= ITOmMmMOUO®>

2+24+2+2=[4]x2
2XxX5=[5]+5
6+6+6=[3]x6
T+7+7+7=[4]x7
3X[I]=1+1+1

1 X 8=[8]
10=[1]x 10
2X9=[9]+9
4+4+4+4+4=[5]x4
3+3+3=3x%][3]
Answers will vary.

Possible response: A family has 5 tricycles.
Each tricycle has 3 wheels. There are
15 wheels altogether on the tricycles.
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Complete the following addition and multiplication sentences. Make sure
that they are true sentences when you are done.

A2+2+2+2:[]x2 B.2X5:[]+5
QG+6+6:[]X6 D.7+7+7+7:[]X7
Esx[]=1+1+1 E1x8:[]
GJO:[]X10 H.2X9:[]+9
I.4+4+4+4+4:[]x4 J.3+3+3:3X[]

K. Think of things that come in groups of three. Solve the problem
below and write a story for the number sentence.

3+3+3+3+3=
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